
−9
0

−6
0

−3
0

0
30

60
90

(d
eg

re
es

_n
or

th
)

la
tit

ud
e

1 2 3 4 5 6 7 8 9 10

(×
10

4  
P

a)
pressure

M
S

F

C
O

N
T

O
U

R
 IN

T
E

R
V

A
L 

=
 2

.5
00

E
+

00

−5.00

0.00

0.00

0.00

0.00

0.00

0.00
0.00

5.00

5.00

10.0
10
.015.0

−2
0

−1
5

−1
0

−505101520

 
1/
12



−9
0

−6
0

−3
0

0
30

60
90

(d
eg

re
es

_n
or

th
)

la
tit

ud
e

1 2 3 4 5 6 7 8 9 10

(×
10

4  
P

a)
pressure

M
S

F

C
O

N
T

O
U

R
 IN

T
E

R
V

A
L 

=
 2

.5
00

E
+

00

−5.
00

0.00

0.00

0.00

0.00

0.00

0.00

5.00

5.00

10.0
15.

0

−2
0

−1
5

−1
0

−505101520

 
2/
12



−9
0

−6
0

−3
0

0
30

60
90

(d
eg

re
es

_n
or

th
)

la
tit

ud
e

1 2 3 4 5 6 7 8 9 10

(×
10

4  
P

a)
pressure

M
S

F

C
O

N
T

O
U

R
 IN

T
E

R
V

A
L 

=
 2

.5
00

E
+

00

−5.00

0.00

0.00

0.00

0.00

0.00

0.00

5.00

5.00

10.0

15.0

−2
0

−1
5

−1
0

−505101520

 
3/
12



−9
0

−6
0

−3
0

0
30

60
90

(d
eg

re
es

_n
or

th
)

la
tit

ud
e

1 2 3 4 5 6 7 8 9 10

(×
10

4  
P

a)
pressure

M
S

F

C
O

N
T

O
U

R
 IN

T
E

R
V

A
L 

=
 2

.5
00

E
+

00

−5.00

−5
.0
0

0.00

0.00

0.00

0.00

0.00

5.00 5.
0010.0

−2
0

−1
5

−1
0

−505101520

 
4/
12



−9
0

−6
0

−3
0

0
30

60
90

(d
eg

re
es

_n
or

th
)

la
tit

ud
e

1 2 3 4 5 6 7 8 9 10

(×
10

4  
P

a)
pressure

M
S

F

C
O

N
T

O
U

R
 IN

T
E

R
V

A
L 

=
 2

.5
00

E
+

00

−10
.0

−5.00

−5
.0
0

0.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

5.00

5.00

−2
0

−1
5

−1
0

−505101520

 
5/
12



−9
0

−6
0

−3
0

0
30

60
90

(d
eg

re
es

_n
or

th
)

la
tit

ud
e

1 2 3 4 5 6 7 8 9 10

(×
10

4  
P

a)
pressure

M
S

F

C
O

N
T

O
U

R
 IN

T
E

R
V

A
L 

=
 2

.5
00

E
+

00

−15.0

−10.0

−1
0.
0

−5.00

−5.00

0.00

0.00

0.00

0.00

0.0
0

0.00

0.
00

0.00

5.00

−2
0

−1
5

−1
0

−505101520

 
6/
12



−9
0

−6
0

−3
0

0
30

60
90

(d
eg

re
es

_n
or

th
)

la
tit

ud
e

1 2 3 4 5 6 7 8 9 10

(×
10

4  
P

a)
pressure

M
S

F

C
O

N
T

O
U

R
 IN

T
E

R
V

A
L 

=
 2

.5
00

E
+

00

−15
.0

−10.0

−1
0.
0

−5.00

−5.00

0.00

0.00

0.00

0.00

0.00

0.0
0 0.00

5.00

−2
0

−1
5

−1
0

−505101520

 
7/
12



−9
0

−6
0

−3
0

0
30

60
90

(d
eg

re
es

_n
or

th
)

la
tit

ud
e

1 2 3 4 5 6 7 8 9 10

(×
10

4  
P

a)
pressure

M
S

F

C
O

N
T

O
U

R
 IN

T
E

R
V

A
L 

=
 2

.5
00

E
+

00

−15
.0

−10.0

−1
0.
0

−5.00

−5.00

0.00

0.00

0.00

0.00

0.00

0.00

0.00

5.00

−2
0

−1
5

−1
0

−505101520

 
8/
12



−9
0

−6
0

−3
0

0
30

60
90

(d
eg

re
es

_n
or

th
)

la
tit

ud
e

1 2 3 4 5 6 7 8 9 10

(×
10

4  
P

a)
pressure

M
S

F

C
O

N
T

O
U

R
 IN

T
E

R
V

A
L 

=
 2

.5
00

E
+

00

−10.
0

−5.00

−5.00

0.00

0.00

0.00

0.00

0.00

0.00

5.0
0

−2
0

−1
5

−1
0

−505101520

 
9/
12



−9
0

−6
0

−3
0

0
30

60
90

(d
eg

re
es

_n
or

th
)

la
tit

ud
e

1 2 3 4 5 6 7 8 9 10

(×
10

4  
P

a)
pressure

M
S

F

C
O

N
T

O
U

R
 IN

T
E

R
V

A
L 

=
 2

.5
00

E
+

00

−5.00

−5
.0
0

0.00

0.00

0.00

0.00

0.00

0.00

5.00

5.00

−2
0

−1
5

−1
0

−505101520

 
10
/1
2



−9
0

−6
0

−3
0

0
30

60
90

(d
eg

re
es

_n
or

th
)

la
tit

ud
e

1 2 3 4 5 6 7 8 9 10

(×
10

4  
P

a)
pressure

M
S

F

C
O

N
T

O
U

R
 IN

T
E

R
V

A
L 

=
 2

.5
00

E
+

00

−5.00

−5.0
0

0.00

0.00

0.00

0.00

0.00

0.00

5.00

5.
00

10.0

−2
0

−1
5

−1
0

−505101520

 
11
/1
2



−9
0

−6
0

−3
0

0
30

60
90

(d
eg

re
es

_n
or

th
)

la
tit

ud
e

1 2 3 4 5 6 7 8 9 10

(×
10

4  
P

a)
pressure

M
S

F

C
O

N
T

O
U

R
 IN

T
E

R
V

A
L 

=
 2

.5
00

E
+

00

−5
.0
0

−5.00

0.00

0.00

0.00

0.00

0.00

0.00
0.00

5.00

5.00

10.0

15.0

−2
0

−1
5

−1
0

−505101520

 
12
/1
2


